Site Amenities

BY SUPERIOR RECREATIONAL PRODUCTS

9!
‘“q-_:-.“-.

0
-\\-‘\\

g
]
H

ety

HIHH " 1 7
7 Ry A
SR
At

THUTHER

HHHTANS
T
:.:ﬂ'-

W
(LTI
R
T
QRS
CHHASS
RS

Uy

Model #
T460CTROLL

a4
O
4
L
a¥
)
n

RECREATIONAL PRODUCTS

AP AYCORE Company

Page 1 of 9

3/12/2019



HARDWARE

516" X 1"
Machine Bolt

5/16" Washer

5/16" Kep Nut

SUPERIOR]

RECREATIONAL PRODUCTS
API_A""CORE‘ Company

3/12/2019 Page 2 of 9



PRODUCT SPECIFICATIONS

T460CTROLL
46” PORTABLE TABLE WITH 4 SEATS

Top & Seats: 11 gauge die formed angle frame 1°x1-7/8". 3/4” #9 steel expanded metal. 7 gauge x 1-1/2” flat bar center support and
mounting bracket understructure. Top is additionally supported to the corners with 7 gauge x 1-1/2” flat bar. Seats are supported by 7
gauge x 3” flat bar center support and mounting bracket understructure. Seats ends are capped by 10 gauge x 3” flat bar with rounded
ends for a clean look. Electrically MIG welded.

Coating: Oven fused functionalized polyethylene copolymer-based thermoplastic. Fluidized bed coating application with superior
mechanical performance, impact resistance and UV-stability.

Frame: 1-5/8” O.D. x 14 gauge pre-galvanized structural steel tubing. Brace attachment points are 1-1/2"x2"x3/16” steel flat bar. Cross

braces 1" O.D. x 16 gauge pre-galvanized structural steel tubing. Top is attached with 7 gauge 2"x2” die formed angle. Seat mounting

points are 7 gauge x 1-1/2” die stamped steel flat bar. Legs are bent over a mandrel through the bend radius producing a wrinkle free
bend. All electrically MIG welded.

Frame Coating: Electrostatic powder coated application oven cured.
Hardware: All stainless steel hardware fasteners.

Dimensions: Top is 46” square x 30” high. Seats are 12” wide x 36” long x 19-1/2” high. Outside to outside dimensions of the 4 seat
table is 77-3/4” square.

SUPERIOR]

RECREATIONAL PRODUCTS

A P|AYCORE campany

3/12/2019 Page 3 of 9



COMPONENTS

ITEM NO.

PartNo

DESCRIPTION

1

T-OV46-T

46" Octagon Expanded Top

T-VR36-S

3'Vinyl Rolled Seat

P-01-04-0121

358 Extension Tab

P-V358-L

358 Vinyl Leg L

P-V358-R

358 Vinyl Leg R

33-02-0007

5/16" SS Washer

33-05-0029

5/16" x 1" Machine Bolt (SS)

33-03-0012

5/16" Kep Nut (SS)

2
3
4
5
6
7
8
9

3/12/2019

P-01-04-0122

358 Crossbrace w/ Umbrella Tube

SUPERIOR

RECREATIONAL PRODUCTS
A P|AYCORE campany

Page 4 of 9



any
RE comp
YYCO

apla

r.(&t((: e trrdf« e
%ﬁ%ﬁﬁ%ﬁ - %ﬁqﬁﬂﬁﬁﬁﬁfVQ -
;oocoooao acoc.aaar.:-o
& ocm.r..o«offavoaco & S R SRR,
coocf::o..fvcc R e &
ococo/: R R SRR
SRENER AR Nt o
racaacco vaoacoccvaca G
RSt X .—ccacoo ety
.“f“" W "“'.‘ W0 "0'
,.oftf-cvctoccf{...o//!r&pffafovor-..l SRR
an:o:vooccooo«ff'¢c &
wotooaocvf/ovf:cmfflrfoo IR QRN
aﬂ.ﬁdﬂﬁ«ﬁﬂ;ﬂh&ﬂﬁ%&: QRN onc:..fd
BN, RN - vofcfvoo..a.oaooooo
A b, oolcifd
RS QR R0
Iﬂdvo o o.-c:au'.'ni
W /:oovofc
-oavo.:f
..a..

GTS
oDU
ATIONAL PR
RE

REC

X
S SRR
SRS XN
%
X
L
W X
L

-
AR 1L,
SS

X

X

Honou-..rﬂa A
RN
R
QR

e
) oy X
B,
ildiv
00'!4.
o R N S
oy ..foroc..o i
] A f//cu-foao
&ﬂ?#ﬂ Lo Mff%}%
] )
]

PG
S

RN

Wﬁ?&ﬁ%

ﬁﬁ?ﬁﬂf
cve
't

S ]
-lov
3 crffoocﬂﬁovavf,
0 o...ccf =
L | -
cﬂrl...
o ﬁofuro.
; SR
N
% %ﬁ%ﬁlv
o
] SRS
& %ﬁﬁﬂq
] R
NS )
oy

A
.ro.rﬂfﬂ:ﬂlﬂﬁf
RN

NS,
SRR
) .5665%$
. e oy
oﬂno:“ o %
% N
oﬂrﬂvﬂa fafforo' X

o
00 -
RN
%ﬁ%! ?% ff
i
= L
e "

W,

N
"k,
ato,.o..ad.ol;ot o
R
55
L

o
) R
SN o, SO
S Sy e
‘ooaaoac..ov e SR,
lcvc S o, o
e R, XS z
S AR Ry
A R o v....rc'cfo!ocf
) t!ttfrv ca!frio
oo Jaavv a:rnlris
ltitrdtoorc A lcco
tf:altrcltv o oo,
o, fdoorfﬂ'orllrd
0 ccvcvvo..oooooo
& c_co'oo._-oovffv..f- R
SR S SRR
-

d hardware.

e

Tabs to the 46
INg Speci

on
tach the Extensi
Atta

Round Top us

Page 5 of 9

3/12/2019



Attach the Legs to the Extension Tabs using specified hardware.

SUPERIOR]

RECREATIONAL PRODUCTS
A P|AYCORE campany




)
Lt
A

S

ied hardware.

ing speci

n
-]
c
=
o
e
n
n
®
n
(@)
o
Qo
O
©
-+
()
e
-+
c
()
()
2
()
0
()
(@]
)
—
O
n
n
]
|-
@)
()
e
]
C
o
©
=
<

RECREATIONAL PRODUCTS

S SUPERIOR

A P|AYCORE campany

Page 7 of 9

3/12/2019



Attach the 3' Seats to the Legs using specified hardware.

SUPERIOR]

RECREATIONAL PRODUCTS
API_AYCORE Company




OVERALL DIMENSIONS

78 7/8"

457/8"

30 3/16"

RECREATIONAL PRODUCTS
API_AYCORE Company




